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(p +:)(v - b) = RT
VZ

.

RI5

He
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0..
co,
H,O
Hg

a b

~ia&k~JJ/(i?banGih)z d/i%d.Jua

3.44  x IO.’ 0.0234
24.x 0.0266
138 0.0318
366 0.0429
5 x 0 0.03lY
2Y2 0.0055
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Temperature  (deg  K)
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K(m2/“)

I

B(deg- ‘)

40 x lo-  I2
I

19  x IOF 5
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p=z!-a
v - b  v2

11etbrmMloa7nB

y’(v-b)
RTv-  - 2a(v  - b)2,

1 . 3 7

v2(v  - b)2

RTv3  - 24~  - b)’
. . . . . . . . 1.38

Y
~~n~ln%l~lu”J~l~l~~~lJl~~~~~~~J  p 1lRt  K %&¶~

Wtl F(p.  v. T) = 0

bSl9ii v = f(T. p)

:.  dv = ($ ),,dT  + (; j,,dp

i3in dw  = pdv

11Yluel1  dv a%i  aw  = p [[$$iT+[$)ldp] . . . ..I.39

:.  Ctw = p[@v)dT  + (- Kv)dp]

Zfw  = pv(f3dT  - Kdp) . . . . . . . . . . 1.40

hl%hllqGw6i  %&  p =+  11nt  K = ; kwwiiasIut-wn7-j  (1.40) 5&41pb

Cfw = pdv = RdT - vdp

:.  pdv + vdp = RdT

24 PH 218



PH 218 2 5



P
I \

PH 218



6.

Li
.T

50 BaJ.

+
50 m.

&

PH 218 27



c 28 PH 218



1. ?l) 10’ kg/m3 ll)  lo-  3 m3/kg

fi) 18  x lo- 3 m3/kg-mole

4) 1.29 kg/m3,  0.77 m3/kg,  22.4 m3/kg-mole

2. 8.50 Ibs

4. n) 300 K U) T,  = 7.50 K. Td = 120 K

+l) 6.25 m”/kg-mole 9) IO m3

9) @kg

5. rl) 3.1 kg-mole U)  98 kg

R) 215 Ibs  4) 393 atm

8) 2.8 kg-mole

6. ll)  k = & ¶I)  800 K
I

7. ‘11) 1.01 x lo5 N/m2

8. 25 cm

9. fl)  .480.4  atm 91)  506 atm

fl) 8315, 8700 J/kg-mole-deg

10. 3.8 x 104J

11. 1.69 x 10’ J

12. n) - 19.5 x 104J ll) - 27 x IO4 J

,a) 150 K 4) 7.8 x 104  N/m2

13. 5 nRT,

14. 3.1 x lo5 J

15. n) w = RTln  [(v2 - b)/(v,  - b)l  +a[( t2 - $,)I

U) 21.4 x lo5 J fi) 21.5 x lo” J

16. fI)  f3 = ( + )[ 1 - ( ; )1 , K ‘= ( ; )[ 1 - ( ; )]
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